T ; ] b (o)
§ : § H =1 99.5
——520——| w 18 52
L """"""" J D BT 40
. KEHE(EAEIFA—ML) w3 h—j'%ﬁl'lﬁ’s#%kfliﬁﬁﬁﬁ(cm)
Av EHEASE 4.368 Em(Lsop) / Lsop=2.40\4368=159cm
- fBIE(Lssl) / Lssl=1.59V3360=92.2
l-l A& 3,360 %mhii& / |_::|=1.gsN436t3=105c?21
! o — _ Ah tm 3,022
2 3 I-I
(2] E E 2 Z\ OF 2y
7 : E’L*ji*;mi;‘“ﬁmm) — w2k~ AT AT B (o)
=N = g 922 Hs=0.0106[1+{10000/(3022+800)} ] 3022=116cm
——520—— 400—‘
e R -
7 ~
Ve
/
( 2
e |
| | 1590 1 493 1 1050
| | I
| | e \\ AR
| | -
| : : | s N\
I 922 : 922 1 // AN
N L ; | g \\
| | < - N
I I s AN
| | - N
| | i AN
| |
| 5 |
| |
AN
AN
~
~ - —
400—‘
- — N i — =L v
Y h—=ATY LA 60051 JNEFIRE RFER




